U8 & 5l R 44 E SR% WORM REDUCER E SERIES

B1 A
| BB AB
QQ 4K ==
7;‘:
\ 2 T | |~
Gs g ] &jﬁ
- N (e > = = -
& FeB A @ FIRE
|
/ N Input Bore P o
J AHAH \
r —
U ® 4
Output Shaft r q
aepal i
L BE | s ]
BD AC
MODEL : EOM CZ A
AB
,f7
T |
iqle; ,E o
N) ASYRSY ;
) ‘ ol T
Input Bore | )
AAA 7J
. o
|| || Output Bore —
L$ % YAk
H‘H I H‘H
unit: mm BE ‘ 8-7xL
g HAF BD
Model Output Bore
S [ W] Y|
50 20 6 2238
60 25 8 283
70 30 8 333
80 35 10 38.3
100 40 10 43.3
120 45 12 483 R L \' WR WL WV

135 55 15 59.3 #fi[5)3 12 Shaft Direction

unit: mm

I . I i IEC RANTL EpaL Weial
EiCh BBlccl LL Foot Stock Motor Flange & Input Bore Output Shaft
Model

1/10~ | 1/40~
1/30 | 1/60

kg
AC|F |BDIBE| Zx P 1 QR K|V [T|UILS|S D WxYxLK) EM JEOM

50 14 - 154 81 178 98 98 50 65 195 115 90 70 50 M8x16 130 110 160 M8 127 4 11 40 17 19 5x5x35 6.6 8.2

60 1/2 1/4 165 87 190 108 110 60 75 215 124 100 77 55 M10x18 130 110 160 M8 12; g }1 50 22 25 7x7x45 9.4 10.6
200 105 210 235 130 110 160 M8 16.3 5 14

70 1 12 300195 210 128 130 70 85 230 154 125 85 65 M10x18 g 110 200 M8 183 5 1 60 28 31 7urxss 156 15.4

80 2 1 229 121240 138 140 80 92 272 174 145 96 75 M10x18 165 130 200 M10 217 © 19 65 37 35 10x8x60 20 22
280 146 270 315 165 130 200 M10 27.1 . 24

100 3 2 330746270 175 170 100 115 35 225 185 116 85 M12x20 Jop 190 200 M10 271 g 2% 75 35 41 10x8x70 37.8 38.4

120 5 3 333 173 315 198 190 120 155 400 264 220 132 100 M14x28 215 180 248 M12 31.3 8 28 85 45 48 12x8x80 60.2 61.6
339 445 215 180 248 ... 31.3 8 28

135 712 5 374 193 S0y 218 214 135 185 30 306 260 150 10 MI6x30 oo 200 sae M12 313 8 28 o5 55 5 15x10x00 816 84

& uminNg  G31



